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Part—1/9mT-1
Marks — 30 / 3% — 30
Me: WA H FA 15 77 € | TS g FEr R | &% w1 & fiw 02 Iw
fuifa & |

Note : There are 15 questions in this part. All questions are compulsory. Each
question carries 02 marks.

Hifives e aea o g R s @ 2 [T ; 20 W1
Differentiate between compound and element by definition.

[Answer Limit : 20 words]
e R # FifeT @ R e g e E 7 (3 i - 20 wrsg
Describe the prominent effects of nicotine in the human body.

[Answer Limit : 20 words]

@%ﬁwm%m@ﬁﬁmﬁm,Wﬁ ? (ST € : 20 91

Rusting occurs in Iron but not in Aluminium, explain why ?
[Answer Limit : 20 words]

Sfespefl wifewITe waet 1 § 7 few agudia w3 A, Fw B wre §

$i 7 _ [STR 41 : 20 W]
What are genetically modified crops 2 Which Multi National Company Introduced
Bt-Cotton in India ? [Answer Limit : 20 words]

nga%ﬁﬁﬁﬁ(M)@W(Gene)mmaaﬁﬁmmg)aﬁ@ﬁm
FE [T i : 20 WIeg

Name the transgenic plant(s) and the genes used for mercury detoxification.
[Answer Limit : 20 words]

YHTA: Toh 99%h 0¥ Ud Afke ¥ At T Soepal 6 gea v g fiferfier #

forart gYclt & aen st sftam arafy, o frah B 2 2 [T HimT : 20 W]

What is generally the number of red blood corpuscles per cubic millimetre of
blood in an adult man and woman and what is the approximate life span of Red

Blood Corpuscles ? [Answer Limit : 20 words]
U ST | 15T <l 3teren W @ 41 W9 g2 R 2 [STR & : 20 v
What is the effect of excess nitrates in drinking water ?

‘ [Answer Limit : 20 words]

St - farfrerar it afom R | [T i : 20 wrsg]
Define Biodiversity.

[Answer Limit : 20 words]

g R wr g 7 [STR T : 20 9152

What is sustainable development ? [Answer Limit : 20 words]
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ST | USATEA 7 Y MM L | SEHT 1 FHE 7.4 % 1022 kg q°1 B 1740 km

2 | [3 HmT : 20 Wee)
Calculate the escape velocity from the moon. The mass of the moon = 7.4 x 1022 kg

and radius of moon = 1740 kms. [Answer Limit : 20 words]
fofie |fRm @ 3 w9 gue § 7 [T i : 20 =)
What do you understand by Remote Sensing ? [Answer Limit : 20 words]
qICS o BeA ol IR $Hifdr | [3T € : 20 wisg]
Define Cloud Burst. [Answer Limit : 20 words]
“Hfths" TR ? [ITR HHT - 20 1)
What is “Epicenter” ? [Answer Limit : 20 words]

Tithehe! YoR 2T (GUI) 31 FHHIUE 51t $ehE (CUT) % HE 3R aTsy |

[ST 4T : 20 v1g]
Differentiate between Graphical User Interface (GUI) and Command User
Interface (CUI). [Answer Limit : 20 words]
MS-Word § Ac1 5 fasheq &1 8 ? (ST i : 20 wsg]
What is mail-merge option in MS-Word ? [Answer Limit : 20 words]

Part—2/90T-2

Marks — 50 / 3% — 50
A @AM E FA 10 I § | oft v hEr R | v@e v % Riw 05 a6
fauifa &

Note : There are 10 questions in this part. All questions are compulsory. Each
question carries 05 marks.

“STepfcres g qUT “gT-uran” hi Whidshar # W F HRUN HT G0 H |

[STR €111 2 50 ¥1sq)
Describe the reason for difference in the crystallinity between “Natural Rubber”
and “Gutta-Percha”. [Answer Limit : 50 words]

Rifferehe 3tem R BIaT 2 ? 38 U Od SuE i av R | (IR & - 50 9eq)

What is Borosilicate glass ? Describe its properties and applications. |
[Answer Limit : 50 words]

Y32 H 1 R 7 e e B TN & ATETIHATE & 7 (e &t : 50 weg) |
What is patent ? What are major requirements for grant of a patent ?
[Answer Limit : 50 words]
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amé.g.d.w. (IUCN) =1 gf & ferftae | o= Sfia srfufrm wia 6 dae gra foa

T § srfufrafia ferar man aun see SRvE FT AT 7 [STR HHT : 50 ¥Ig)
Write the tull form of IUCN. In which year the Parliament of India enacted the
Wild Life Protection Act and what was its purpose ? [Answer Limit : 50 words]
e wgwu < v 39 $© U gse | [T T : 50 vIsg]
Suggest some measures to control noise pollution. [Answer Limit : 50 words]
TYH 3T U 3R § 30 &9¥ HIfdu | [STR €T : 50 Isg]
Differentiate between a National Park and a Sanctuary.  [Answer Limit : 50 words]
W e @R 7 W @& 1§ feonft ferRlag | [STRCHT : 50 vTeg]

Give a brief account of Indian Remote Sensing System. [Answer Limit : 50 words]

YT Ta G qUT ° 97 A< 8 7 [3T "1 : 50 91sg)
What is the difference between infrasonic and ultrasonic waves ?
[Answer Limit : 50 words]

STehfersh Wl Ts STehfeieh 3119 # #91 HET =R 2 ? [STR €I : 50 wrsq]
What is the major difference between Natural hazards and Natural disasters ?
[Answer Limit : 50 words]
HR e o =T | Sidfieh guen  fore wn gfat @ 7 (3T 1 : 50 wIsc]
What are the challenges to internal security through communication network ?
[Answer Limit : 50 words]

Part -3/ 911 -3
Marks — 40 / 3/@® — 40
e ;. WA H e 07 9 2 | el R 05 w1 3 S ) wedeh W % fern
08 31 fAuifa 2

Note : There are 07 questions in this part. Candidate should attempt any 05
questions. Each question carries 08 marks.

frfefiga =1 avf =i

(i) sAfeae 2w, fregfiim s ) 9= & forg,

(i) g, 3ftafer 3T S [T T ;125 v
Describe the following :

(1) Benedict’s test for the detection of reducing sugars.

(11)  Drug, medicine and chemotherapy. [Answer Limit : 125 words]

W Rf @ awwafafaFAa=me [STR AT : 125 Wsg)

What is gene therapy and how does it differ from supportive therapy ?
[Answer Limit : 125 words]
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ORI AR B 7 TR e b e e fRfer 6 e w o feeR sehr < Ed

g7

[3T T : 125 9Ieg]

What are chromosomes ? Describe the types of the chromosomes on the basis of

number and position of centromere.

[Answer Limit : 125 words]

wos {4 o (Fefi Saciaa= Behfasw) @1 o ferfau | [IT & ;125 9]

Describe Clean Development Mechanism (CDM).

[Answer Limit : 125 words]

C (BFEMUE), Si qYT Ge i TTeTeh HEAT Th Fd W C T FATETH 8 Falh Si T

Ge A5 ard=Teie &, T8 Hi |

[3THHT : 125 91s2)

C (diamond), Si and Ge have same lattice structure, but why C is an insulator and

Si and Ge are intrinsic semiconductors, explain.

w1 3o Saveft yorret S aaeTe |
Explain Flood Early Warning System.

[Answer Limit : 125 words]

[STC T : 125 IIse)
[Answer Limit : 125 words]

wedt Free TR feew W DBMS & F1 HIEG & 7 DBA % &/ @ ¥t afonfia

W |

[T &4 125 95T

What are the advantages of DBMS over typical file processing system ? Also

define the functions of a DBA.

Part—4/%rm—4

[Answer Limit : 125 words]

Marks — 80 / 3% — 80

M. THAME A 07 99 3 | 3n=refi 5= 05 w1 I T | u&¥H wvH & foaw

16 3 fFuifa € |

Note : There are 07 questions in this part. Candidate should attempt any 05

questions. Each question carries 16 marks.

AR 1 9UH il | YHTCAT T U aaTafen wifeed d Jergo afed fave &t |

[3T 4T : 250 ¥15g)

Explain plastics. Distinguish between thermoplastics and thermosetting plastics

with example.

(37) |TEA GRT Ay Aer ) g &1 quiq L |

[Answer Limit : 250 words]

(¥) “wRyg tewea’ #7017 W@ Rwrne ke @ “wwht-smaea” fafy go 32

wH R s w7
(a) Describe the removal of greasy dirt by soap.

[T & : 250 wse

(b) What is absolute alcohol ? Explain how it can be obtained from rectified

spirit by fractional distillation.

[Answer Limit : 250 words]

it s &1 2 7 39 Al srarnail ve wwie fasw wodfym feogft

Hifo |

[3a i1 : 250 W8]

What is menstrual cycle ? Write brief note on its various phases and hormonal

control.

[Answer Limit : 250 words]



36.

37.

39.

The Vision

T RS- AYRNE & T91E 1 Jvi HIRY v 5 you ¥ e snasar g |

[ € : 250 wreg)
Explain the impact of solid waste on our environment and show how it can be
managed. [Answer Limit : 250 words]
aR @ g T~ § wn o R ¢ ole it &1 3§ wra-feot % s
fore o foafta | [FEEH ; 250 Wiy
What is the difference between soft and hard X-Rays ? Write down the uses of
X-rays in five different areas. [Answer Limit : 250 words)
@ & TR ! TWHIE | [ € : 250 I
Explain the types of drought. [Answer Limit : 250 words]

LAN, MAN T WAN # 721 3ot & ? Welish 1 e 3 | HE Feaeh T 3w g
ﬁﬁﬂlﬁaﬁﬁ’ﬁﬂﬁ@ﬁﬂﬁﬁlﬁwﬁﬁﬁl [Tt : 250 w1
Dlﬁ'erer}tlate between LAN, MAN and WAN. Give example of each. Also discuss
topologies and devices uscd in computer network. [Answer Limit : 250 words)
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